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CHEMISTRY

121. C6H6+O3 —-)Xﬂzo—>Y

X and Y are respectively :

(1) Digzonide, Glycol (2) Triozonide, Glyoxalic acid
Monide, Glyoxal (4) Monoozonide, Oxalic acid

X $500080 Yoo 800

(1) Be&36, BsS 2) B9yes’36, Bus)dE widwn
(3) Byes'38, Hes)S (4) BrSe=*I6, us)OF esisn

122. Which one of the following exhibits enantiomerism ?
& (808 TES® A0 TR TWrB020D0 (H80 208 2

(1) BrCH,-CH, -CH, - CH,Br -9/H3C—CIH-CH2—CH3

Br

(3) H,C-CH,-CH,-CH_Br (4) H,C-CH, -CBr,-CH,

123. Phosgene is formed slowly from which one of the following on exposure to air and sunlight ?

808 &8S° BID md Hodasw drdg8RS° sodne FRES IS & Q8 YBo08 ?
\(1)/@1 (2) H,C Cl (3) H,C OH 4) CHCI

124. The order of reactivity of Phenol (1), Nitrobenzene (2) and Benzene (3) towards nitration is :
P58 (1), J&'BoES (2) $0805» BodS (3 IFaS (Badrled (Edoda
1 G)>M=>®@ @ @>3=> M>(3)>(2) @ MH>2>3)

125. The reagent used in the Wolff-Kishner reduction is :

65)-8a)6 Fohsdns® o8 sEEsw :
HZN-—NH2 / KOH (2) H,/Ni

(3) Sn/ HCI (4) LiAlH,
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126, The pK_ values of four carboxylic acids are 476, 4-19, 0-23 and 3-41 respectively. The pK,
value of strongest carboxylic acid among them is :

Tty 57038108 wdro pK, Jodes Sdhdme 476, 4419, 023 S:0a50 34,

SOt wd30E poBS s0v)8y08 aa'i_:::?ﬁa. pK, Deod :
(1) 419 2) 341 023 (4) 476

127. Nitrobenzene on reduction using Zinc in alkaline medium results in *X". The number of
sigma (o) and pi (r) bonds in *X" is :

3(E*TodSH 208 g Edrssod® Fabidmo TosoDH X' DE k08, X't
fdo by’ (o) H8dw ' () wogte Dopg :

~
(1) 240,77 n 2) 0,6 n (3) 270, 7nm J&)"KZT g, 6n
128. Which one of the following isfer a biopolymer ?
(1) Cellulose _Ja/mﬁn-ﬁ (3) Insulin (4) DNA

& 200 o8 2@WrIOHE TR B 2
(1) Deoge's (2) Bori-6 (3) =385 (4) DNA

129, Which one of the following statements is mof correet ?

(1) Eﬁcpl Glycine all other naturally occurring a-amino acids are optically active
a-Amino acids have maximum solubility at their isoelectric poim

(3) A tripeptide has two peplide bonds

(4) @-Amino acids exist as Zwiller ions

6 (808 Didmed IO HOTIL £& 7

(1) Ehs 85y DADS Jbre 0-dDS edrwe §)PSodod Hod

(2) B 8gh Do ¢ w-INS edro (Esddhd FoGom oS
(3) Byopbd" Tods RE wogrew Lo

(4) a-20s wdro 2308 edrionr sotron
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130. Which one of the following is an artificial sweetening agent ?

Gi (800 ardst )85 8% ﬁa'-g"é:a o8 7

OCOCH,
CO,H
(1)
OC,H;
e
NHCOCH,
Cl Cl
(3)
S
Cl Cl
H,C CH,
0 CH \C!J
/ 1 il e
( HO,C-CH,-CH-C-N-CH-C-N-CH S
/ ? Hz | H g H \\C/
NH, gl N
H,C CH,
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131. The volume in ml. of 0-1 M solution of NaOH required to completely neutralize 100 ml.
of 0-3 M solution of H;PO; is :

100 20.8.0 03 M HPO, (ordmdnd {rom S69500Hhes sdobd 01 M.

NaOH (ordn D05905re0 0.0.08 Jod ?
(1) 60 (2) 4600 (3) 300

(4) 30

132. March the following :—
Bod =8 z=d DESdw —

Last-1 List-11
(A) Potential of Hydrogen (n o076V
electrode at pH = 10 (Iy 0-059
(B) Cu? | Cu (1) - 0-591 V
(C) Zn | Zn* (IV) 0337 V
2303 RT
D) ==— (V) - 076 V
endige-| srDa-11
(A) pH = 10 $& (&5 () 076V
Juselh SBYdS (1) 0-059
(B) Cu®' | Cu (1) - 0:591 V
(C) Zn | Zn** (IV)0:337 V
2303RT
% (V) — 076 V

The correct answer is :
DETHS DIrorISw
(A) (B) (C) (D)
() (I @ (a@ (v)
(2) V) (I @av)
am (@avy o [
(4) (V) (O avy an

Rough Werk
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133, If the values of A of NH,CI, NaOH and NaCl are 130, 217 and 109 ohm™' - cm? - equiv’
respectively, the A_ of NH,OH in ohm™ - ¢m? - equiv™' is

NH‘C]. NaOH Ss8adx  Na(l AL &) 338 3 adadm 130, 217 a8 gl
1094857 . 0.0 éw'gaﬁn_' @on s NH,OH Tng), A 457 2o.dp?. ﬁau*goﬁn"é‘

Jod?
W{ Q) 196 3) 22 (4) 456

134. The number of unit cells present in 39 grams of Potassium il it erystallizes as body centred
cube is : (N = Avogadro number, At, wi. of Potassium = 39)

©odiSo(08 HTEBS’ B0ELEno Bod 39 rEwe Forhabost 63) SRS
Wou Dowg Jod 7 (N = 55 dowg, Perucio HESrew do = 39)

3) < (4) N

135. Which one of the following is true for an exothermic reaction A« B, il E and E, are the
activation energies of forward and backward reactions respectively ?

AT B o aR3rds S8g%. E S00in Eos S50 95 md S6wn 85 M
Sdgo adef fHer wond, & Boo -8 D8 DOTRSE 7

(1) E>E, 2) EFE

() E,==E E < E,

136. If the equilibrium constant for the reaction 2 AB == A, + B, 1s 49, what is the equilibrium
I

]
constant for AB = i As * 5 IZ'.2 ?

I |
2AB = A, +B,J3dg g PHerpd Hoodsn 49 vond AB = 5 A% 5 B,

x‘.iﬁg Gws) VHerd8 DoofdSw Jod ?
P @

M 2) % (3) 245 (4) 49

Rough Work
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137. The pH of 0-05 M acetic acid is :
(K, = 2x107%)
005 M 085 sdadw pH:
(K, = 2107
) 2

(2) 11
(3) 107 (4)/

138. What is the entropy change in J.K™' during the melting of 27-3 grams of ice at 0° C ?
(Latent heat of fusion of ice = 330 J.g"‘}

273 (e, $003) 0°C $& EBASHE Jo|@*e’ S8y JK'S' dos 2
(5008 (BIFHS Hodrado =3301g™)

(1) 330 {2) 121

(3) 33 M

139. Which one of the following gives a straight line for Freundlich adsorption isotherm ?

X X 1

— Vs, log P — Vs, —

(1) Jo§— Vs. log @ —Vs g
X | X

log— Vs, log — — Vs, P
(3) Em g P (4) =

(000800 edFfas DTS DEETe Bod oSt DA adod ?

(1) log =, log Po Socg @ 2. o s
I
@) log :1— log >0 S35g @) ?:— P o g
Rough Work
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140. Which property among the following is same for both hydrogen and deuterium
molecules 7

(1) Bond cnergy (2) Melting point
(3) Boiling poim (4 ond length

o =dS® 9 S @28 S0dn digdodbo wmHosH ssrSom
dodods 7

(1), =08%8 (2) (BOFSS Fdo
3) whayEss 3o (4) zogBYgo
141. In which of the following reactions nydrogen is iberated 7
(1) reaction of fused NaOll with C reaction of NaOH with sulphur

(3) heating the concentrated NaOH with Si(4) reaction of zinc with NaOH
Bod ﬁdgué‘ st :a!_L&‘aE Qe 8 7

(1) C & HAod Nuﬁl-l_ -}ﬁ’g_ (2) ﬁﬂ&ﬁ&" NaOH 1.5-:55

(3) S$i & g NaOHSs 38dasne  (4) NaOH & zofH S&g

(1) f/Mai‘ssan boron is amorphous

L2y The reaction between boron and concentrated H’N(}* gives NEU

{33 Amorphous boron on heating with oxygen forms th)]

(4) Boron is o non-conductar of electrieity

o8 DE6ms® IO 200RIG s 7

(1) Brondrs Stod W PSS

(2) S*cS Hoddn g HNO» Soge $8g N,050 =05

(3) s s Fod )i Ia TIPS BOB D66
(4) S'orn ¥ wd g are o ¥

143. Which one of the following is a correct set ?

(1) Diamond, sp’ (2) Graphite, sp’

(3) Diamond, sp (4) Graphite, sp*

808 o8S* DB HOTHS HWB 2

(1) Bob, sp’ (2 S, sp’

(3) BBwG, sp 4) (8, sp?
Rough Work
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144. The total number of o and n bonds in pyrophosphoric acid are respectively :

E}ﬁ‘@‘ﬁ‘gﬁﬁ*aﬁgaé‘ﬂ Twdo o Hown T wedu Jowg SdhRm
(1) 8,2 (2) 10,2 12, 2 (4) 8, 4

145. What are the products formed when moist chlorine gas is reacted with hypo ?
E:;?*da §65 srosnd) SO3 Todd D83 [crearges 9D 2
(13" Na,

50, S, HCI (2) NaSO,, S, HCI
(3) Na,S,0,, Na,80;, HCI (4) Na SO  NaCl, HCI

146. What is the bond angle (OCI0) in CIO, 2

CI0,6* nodSmo (OCI0) Jos ‘
(1) 90° (2) 1200 (3) 105 e

147. The hybridization of Xe and the number of lone pairs of electrons on it in XeF, are -

XeF &' Xe Dofbfdndn H0Mw D Wd) 2obd Jugrin =obe Dopg:
(1) sp’d®, | (2) spid?, 2 (3) spid’, 2 M’.l

148. Identify the order in which the spin only magnetic momient (in BM) increases for the

following four ions .

& (808 Troufy woirde H3S Srgah w0 o8 |wrdagss (BMod®) o6

Léa’)r;ll mg_of.ﬁﬂd ?
() Fe* (i) Ti** (1) Cu** ay) v

(D | A A I (2) < NN 1A ||
(3) NIV, LI (1 | N A"A

149. Which one of the following oxides is reduced by water gas 1o obtain the metal during its

extraction ?

& 1808 eE 8od' TID el nmgSs Lakidmo mlod ') Do ds?

NiO (2) Zn0 (3) Wo, (4) Fe,0,

Rough Work
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150. Which air pollutant 1s responsible for Bhopal gas wragedy ?

S>rS aosw dagt.:r.'ﬁﬁa st 2 "SToolg ST » s*8wdn 7
(1) PIC (2) CFC MIC 4y CO

151, (016 gms of an organic compound containing sulphur produces 0:233 gms of BaSO,. Percentage
of sulphur in the compound is :

‘.1:-1:;5:6: 06 83 0-16 (o £6 5 ‘J:ﬁa;,#’-ﬁﬁw 0:233 (om0 BaSO,5 2660358,
"aﬁoaﬁf 5D ﬁﬂaﬁ TEHD :

(1)-20 (2) 80 (3) 50 (4) 10
152, Assertion (A) :  Cyclohexane i the most stable Cycloalkane.
Reason (R)  : Cyclopropane and cyclobutane are less stable duc 1o angle strain and

torsional strain,
I'he coprect answer is :
Both (A) and (R) are true but (R) is not the correct explanation of (A)
(2) (A) 15 true bul (R) is not true
(3) (A) is not true but (R) is true
(4) Both (A) and (R) are true and (R) is the correel explanation of (A)

A E30 (A) : 2§ wT)Sed8s* WIS QEpE Hodgdn foo.

s*émo (R) @ 2§ (@ DS S0 PfargdSo S'a (Dalrd B0dn erdss
(Bodrdode u'egﬁza.‘:éb.

BOTID HIrEES» :

(1) (A) 30005m (R)os HOTIID H00i» (A)%H (R) HOTHS D58e 5%

(2) (A) 585058 50 (R) HOTHIH 5760

(3) (A) 20THI8 58 572 (R) DooHI38

(4) (A) $:805 (R)on H8THHD H0050 (A)¥: (R) HOTHS Dddw

Rough Work
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153. Which one of the following frequencies of radiation (in Hz) has a wavelength of
600 nm 7

& Bod 2 N PIgdn (Hzod) He J88mdniss 600 nm Sd0rB g gdw
dodady ?
(1) 2:0x10" (2) 5:0x10' (3) 2:0x10" (45010

154. According to Bohr’s theorv, which one of the following values of angular momentum of
hydrogen atom 1s not permitted 7

$°6 Borodin (D5Bn, (800 adgedd o (G'ad dédrmod) TN Sdddsg
3 Qeodod® 6 OBrE Brigin st ?

) A2sh o SEL 4 S
( X @ 3 ) l',lﬂ

155. Which one of the following is correet order of second ionization potential of Na, Ne, Mg
and Al 7

Na, Ne, Mg $08afw Ale Todd wohiddm dsge LTS (SHdn 28 7

(1) Al < Na< Mg < Ne (2) Ne < Al < Na < Mg
13}, Mé < Al < Ne < Na (4) Na < Mg < Ne < Al
L

156. The formal charges of N, N, and O atoms in :N =N ==0: are respectively
m

‘N =N =0: (D5 dS0 Nill'
(1 (2)

(1) +1.-1,0 Lzl/‘l.ﬂ,n (3) +L.+1,0 4 -1,-1.0
e

Ny, 20050 O s8srmipe 265 udre Sedm

Rough Work
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IS7.In which of the following pairs, the central atoms have the same number of lone pairs of
electrons ?

[Bobards® D m8Soss HEgw dSrmedHos o3 Dopg Mo 2060 Jogys
HOLOL 0N alyd 7
(1) P, BrF, (2)7XeF,, ICI (3) XeF,, ClO; (4) SCl, CH,

158. 19 grams of a mixiure containing NaHCO, and Na,CO; on complete heating liberated
112 litef CO, at STP. The weight of the remaining solid was 15-9 g. What is the weight
(in g) of NayCO, in the mixture before heating ?
NaHCO, S:0 a8 Na,€O, 00 £00 ad) 19 rdve F3rA Grom S8 ShdHa
112 b6g €O, STP 8¢ Ddsdeooncs. A a%) 3 dad wdo 159 .
BFS0d* JATcherdE Buod a%) Na,CO; odo (modh) Jod 2
(1) 84 (2) 159 (3) 40 ) 106

159. Under which one of the following eonditions do real gascs approach the ideal gas
behaviour ?

(1) Low temperature and high pressure

(2) High temperature and high pressure
w3 '_fiigh lemperature and low pressure

(4) Low temperature and low pressure

§ 208 2 DOPHed' Dz sEnHes uSEy Sy (DIYSS Hdibodhds 7
(1) 883 adfs 5005 J&pd Lds8
(2) 558 o@AS B0sn Iy baEssw
(3) 5 eFHs So0usw S5,8 LASS®
(4) 9,8 adiAs Sobatn S5)5 HESsw

160. Which one of the following Is the ratio of the lowering of vapour pressure of 01 M aqueous
solutions of BaCl,, NaCl and AI!{SO‘}J respectively ?
0:1 M BaCl,, NaCl $:6 as» Al(80,), 2o (*Saivos wraybds Ddnd Sd5Hor
S 8ol 2 L8 aodosy 2
j/lj"]:!:i &) 532 =3 B) $i342 4) 2:3:5
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